Chapter 4 Long-Term Financial Planning and Growth

Chapter 04 Quiz A   Student Name ___________________________
Student ID ____________

Use these financial statements to answer the questions which follow.


 
 Income Statement




      Balance Sheet

Net sales



$4,700

Cash

  $   840

Accounts payable  
$   790

Less: Cost of goods sold
  2,950

Accounts rec.
       650

Long-term debt  
  3,130

Less: Depreciation

     800

Inventory
       520

Common stock    
  2,780

Earnings before interest and taxes   950

Total

  $2,010

Retained earnings
  1,190
Less: Interest paid

     310

Net fixed assets
    5,880



Taxable Income


$   640

Total assets
  $7,890

Total liab. & equity
$7,890
Less: Taxes


     220
Net income


$   420



Dividends
$125
________
1.
Assume this firm is operating at 80 percent of capacity. What is the amount of the full-capacity level of 




sales?




a. $5,225
b. $6,200
c. $5,550
d. $5,875

________
2.
Assume the firm has a constant dividend payout ratio and a constant debt-equity ratio. What is the 




maximum growth rate the firm can achieve without any external equity financing?




a. 3.61 percent
b. 3.88 percent
c. 5.98 percent
d. 8.03 percent

________
3.
Assume the firm has a constant dividend payout ratio and profit margin. Given these conditions, what is the 

maximum rate at which the firm can grow if they are currently at full capacity and do not want any external financing of any kind?




a. 1.61 percent
b. 2.65 percent
c. 3.25 percent
d. 3.88 percent

________
4.
Assume the firm has a constant dividend payout ratio and a projected sales increase of 12 percent. All 




costs, assets, and current liabilities vary directly with sales. The firm is currently at full production. What is 




the external financing need?




a. $146.00
b. $251.20
c. $470.40
d. $521.60

________
5.
Assume the profit margin is projected to increase to 9 percent while the dividend payout ratio remains 




constant. If sales increase by 12 percent, what is the projected total retained earnings?  




a. $332.76
b. $857.76
c. $1,522.76
d. $1,979.76

________
6.
Assume the profit margin and dividend payout ratios are constant. What is the projected retained earnings if 





sales increase by 7 percent?





a. $315.65
b. $896.25
c. $1,505.65
d. $2,060.25

________
7.
Assume that costs, assets, and current liabilities all vary directly with sales. Also assume the firm is 




operating at full capacity and that sales are projected to increase by 9 percent. What is the projected value 




of earnings before interest and taxes?




a. $1,003.35
b. $1,035.50
c. $1,107.50
d. $1,230.35

________
8.
Assume the firm is operating at 75 percent of capacity. At full capacity sales, what is the amount of 




assets needed to generate $1 in sales?




a. $.79

b. $.89

c. $1.26

d. $1.34

________
9.
Assume the profit margin and dividend payout ratio are constant. By what amount will retained earnings 




increase if sales are projected to increase by 11 percent?




a. $138.75
b. $327.45
c. $466.20
d. $584.12

________
10.
Assume the firm is operating at 90 percent of capacity. By what percent does sales increase if the firm 




starts to operate at the full-capacity level of sales?




a. 8 percent
b. 9 percent
c. 10 percent
d. 11 percent

Chapter 04 Quiz A
Answers

1.
d
Full-capacity sales = $4,700 / .80 = $5,875

2.
d
Sustainable growth rate = {[$420 / ($2,780 + $1,190)] ( [($420 – $125) / $420]} / {1 – {[$420 / ($2,780 + $1,190)] ( [($420 – $125) / $420]}} = 8.03 percent

3.
d
Internal growth rate = {[$420 / $7,890] ( [($420 – $125) / $420]} / {1 – {[$420 / $7,890] ( [($420 – $125) / $420]}} = 3.88 percent

4.
d
External financing need = [(1 + .12) ( ($7,890 – $790)] – $3,130 – $2,780 – {$1,190 + [(1 +.12) ( ($420 – $125)]} = $521.60

5.
c
Projected sales = $4,700 ( (1 + .12) = $5,264



Projected net income = $5,264 ( .09 = $473.76



Current retention ratio = ($420 – $125) / $420 = .70238



Projected addition to retained earnings = $473.76 ( .70238 = $332.76



Projected total retained earnings = $1,190 + $332.76 = $1,522.76

6.
c
Projected retained earnings = [($420 – $125) ( (1 + .07)] + $1,190 = $1,505.65

7.
b
Projected value of EBIT = $950 ( (1 + .09) = $1,035.50

8.
c
Full-capacity sales = $4,700 / .75 = $6,266.67; Capital intensity ratio = $7,890 / $6,266.67 = $1.26

9.
b
Increase in retained earnings = ($420 – $125) ( (1 + .11) = $327.45

10.
d
Full-capacity sales = $4,700 / .90 = $5,222.22; Percentage increase in sales = $5,222.22 – $4,700 / $4,700 = 11 percent

Chapter 04 Quiz B   Student Name ___________________________
Student ID ____________

Use these financial statements to answer the questions which follow.


 
 Income Statement




       Balance Sheet

Net sales



 $6,800

Cash

  $   875

Accounts payable  
$1,230

Less: Cost of goods sold
   4,750

Accounts rec.
       590

Long-term debt  
  3,990

Less: Depreciation

      490

Inventory
    2,780

Common stock    
  2,700

Earnings before interest and taxes 1,560

Total

  $4,245

Retained earnings
  1,490
Less: Interest paid

      400

Net fixed assets
    5,165



Taxable Income


 $1,160

Total assets
  $9,410

Total liab. & equity
$9,410
Less: Taxes


      360
Net income


 $   800



Dividends
$500

________
1.
Assume the profit margin and dividend payout ratios are constant. What is the projected retained earnings if 





sales increase by 8 percent?





a. $324

b. $540

c. $1,364
d. $1,814

________
2.
Assume that costs, assets, and current liabilities all vary directly with sales. Also assume the firm is 




operating at full capacity and that sales are projected to increase by 10 percent. What is the projected value 




of earnings before interest and taxes?




a. $1,716
b. $1,732
c. $1,765
d. $1,790

________
3.
Assume the firm is operating at 85 percent of capacity. At full capacity sales, what is the amount of 




assets needed to generate $1 in sales?




a. $.65

b. $.85

c. $1.18

d. $1.38

________
4.
Assume the profit margin and dividend payout ratio are constant. By what amount will retained earnings 




increase if sales are projected to increase by 9 percent?




a. $327

b. $545

c. $872

d. $1,817

________
5.
Assume the firm is operating at 80 percent of capacity. By what percent does sales increase if the firm 




starts to operate at the full-capacity level of sales?




a. 18 percent
b. 20 percent
c. 23 percent
d. 25 percent

________
6.
Assume the profit margin is constant and the firm is operating at 75 percent of capacity. What is the 




net income at the full-capacity level of sales?




a. $980

b. $1,067
c. $1,100
d. $1,400

________
7.
Assume the firm has a constant dividend payout ratio and a constant debt-equity ratio. What is the 




maximum growth rate the firm can achieve without any external equity financing?




a. 3.29 percent
b. 7.71 percent
c. 10.67 percent
d. 13.55 percent

________
8.
Assume the firm has a constant dividend payout ratio and profit margin. Given these conditions, what is the 

maximum rate at which the firm can grow if they are currently at full capacity and do not want any external financing of any kind?




a. 3.29 percent
b. 3.41 percent
c. 3.67 percent
d. 4.02 percent

________
9.
Assume the firm has a constant dividend payout ratio and a projected sales increase of 10 percent. All 




costs, assets, and current liabilities vary directly with sales. The firm is currently at full production. What is 




the external financing need?




a. $89

b. $267

c. $488

d. $550

________
10.
Assume the profit margin is projected to increase to 8 percent while the dividend payout ratio remains 




constant. If sales increase by 11 percent, what is the projected total retained earnings?  




a. $226.44
b. $603.84
c. $1,609.20
d. $1,716.44

Chapter 04 Quiz B
Answers

1.
d
Projected retained earnings = [($800 – $500) ( (1 + .08)] + $1,490 = $1,814

2.
a
Projected value of EBIT = $1,560 ( (1 + .10) = $1,716

3.
c
Full-capacity sales = $6,800 / .85 = $8,000; Capital intensity ratio = $9,410 / $8,000 = 1.18

4.
a
Increase in retained earnings = ($800 – $500) ( (1 + .09) = $327

5.
d
Full-capacity sales = $6,800 / .80 = $8,500; Percentage increase in sales = $8,500 – $6,800 / $6,800 = 25 percent

6.
b
Full-capacity net income = $800 / .75 = $1,067

7.
b
Sustainable growth rate = {[$800 / ($2,700 + $1,490)] ( [($800 – $500) / $800]} / {1 – {[$800 / ($2,700 + $1,490)] ( [($800 – $500) / $800]}} = 7.71 percent

8.
a
Internal growth rate = {[$800 / $9,410] ( [($800 – 500) / $800]} / {1 – {[$800 / $9,410] ( [($800 – $500) / $800]}} = 3.29 percent

9.
c
External financing need = [(1 + .10) ( ($9,410 – $1,230)] – $3,990 – $2,700 – {$1,490 + [(1 +.10) ( ($800 – $500)]} = $488

10.
d
Projected sales = $6,800 ( (1 + .11) = $7,548



Projected net income = $7,548 ( .08 = $603.84



Current retention ratio = ($800 – $500) / $800 = .375



Projected addition to retained earnings = $603.84 ( .375 = $226.44



Projected total retained earnings = $1,490 + $226.44 = $1,716.44

Chapter 04 Quiz C   Student Name ___________________________
Student ID ____________

Use these financial statements to answer the questions which follow. 


     Income Statement




     Balance Sheet

Net sales



  $5,800

Cash

  $   630

Accounts payable  
$   850

Less: Cost of goods sold
    3,850

Accounts rec.
       810

Long-term debt  
  3,010

Less: Depreciation

       460

Inventory
       540

Common stock    
  2,200

Earnings before interest and taxes  1,490

Total

  $1,980

Retained earnings
     850
Less: Interest paid

       270

Net fixed assets
    4,930



Taxable Income


  $1,220

Total assets
  $6,910

Total liab. & equity
$6,910
Less: Taxes


       320
Net income


  $   900



Dividends
$630

________
1.
Assume the profit margin is constant and the firm is operating at 90 percent of capacity. What is the 




full-capacity level of sales?




a. $5,220
b. $6,444
c. $7,678
d. $8,530

________
2.
Assume the firm has a constant dividend payout ratio and a constant debt-equity ratio. What is the 




the maximum growth rate the firm can achieve without any external equity financing?




a. 4.07 percent
b. 8.62 percent
c. 9.71 percent
d. 10.03 percent

________
3.
Assume the firm has a constant dividend payout ratio and profit margin. Given these conditions, what is the 

maximum rate at which the firm can grow if they are currently at full capacity and do not want any external financing of any kind?




a. 4.07 percent
b. 8.62 percent
c. 9.71 percent
d. 10.03 percent

________
4.
Assume the firm has a constant dividend payout ratio and a projected sales increase of 15 percent. All 




costs, assets, and current liabilities vary directly with sales. The firm is currently at full production. What is 




the external financing need?




a. $82.75
b. $147.00
c. $366.25
d. $598.50

________
5.
Assume the profit margin is projected to increase to 8 percent while the dividend payout ratio remains 




constant. If sales increase by 14 percent, what is the projected total retained earnings?  




a. $158.69
b. $291.60
c. $680.40
d. $1,008.69

________
6.
Assume the profit margin and dividend payout ratios are constant. What is the projected total retained 





earnings if sales increase by 10 percent?





a. $297

b. $935

c. $1,147
d. $2,435

________
7.
Assume that costs, assets, and current liabilities all vary directly with sales. Also assume that the 




firm is operating at full capacity and that sales are projected to increase by 12 percent. What is the 




projected value of earnings before interest and taxes?




a. $1,668.80
b. $1,724.00
c. $2,217.60
d. $2,982.40

________
8.
Assume the firm is operating at 80 percent of capacity. At full capacity sales, what is the amount of 




assets needed to generate $1 in sales?




a. $.80

b. $.95

c. $1.05

d. $1.25

________
9.
Assume the profit margin and dividend payout ratio are constant. By what amount will retained 




earnings increase if sales are projected to increase by 13 percent?




a. $305.10
b. $540.50
c. $960.50
d. $1,155.10

________
10.
Assume the firm is operating at 75 percent of capacity. By what percent does sales increase if the firm 




starts to operate at the full-capacity level of sales?




a. 25 percent
b. 28 percent
c. 33 percent
d. 35 percent

Chapter 04 Quiz C
Answers

1.
b
Full-capacity sales = $5,800 / .90 = $6,444

2.
c
Sustainable growth rate = {[$900 / ($2,200 + $850)] ( [($900 – $630) / $900]} / {1 – {[$900 / ($2,200 + $850)] ( [($900 – $630) / $900]}} = 9.71 percent

3.
a
Internal growth rate = {[$900 / $6,910] ( [($900 – $630) / $900]} / {1 – {[$900 / $6,910] ( [($900 – $630) / $900]}} = 4.07 percent

4.
d
External financing need = [(1 + .15) ( ($6,910 – $850)] – $3,010 – $2,200 – {$850 + [(1 +.15) ( ($900 – $630)]} = $598.50

5.
d
Projected sales = $5,800 ( (1 + .14) = $6,612



Projected net income = $6,612 ( .08 = $528.96



Current retention ratio = ($900 – $630) / $900 = .3



Projected addition to retained earnings = $528.96 ( .3 = $158.69



Projected total retained earnings = $850 + $158.69 = $1,008.69

6.
c
Projected retained earnings = [($900 – $630) ( (1 + .10)] + $850 = $1,417

7.
a
Projected value of EBIT = $1,490 ( (1 + .12) = $1,668.80

8.
b
Full-capacity sales = $5,800 / .80 = $7,250; Capital intensity ratio = $6,910 / $7,250 = .95

9.
a
Increase in retained earnings = ($900 – $630) ( (1 + .13) = $305.10

10.
c
Full-capacity sales = $5,800 / .75 = $7,733.33; Percentage increase in sales = $7,733.33 – $5,800 / $5,800 = 33 percent
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